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* Not GUUTTANPWOETE TTPOTEXTLXA TO POANO OTTAVTNOEWY, ETUAEYOVTAS LOVO L0 OLTTAVTNON
Yo xé&be epwytnon. H ovopumAnpwon vo yivel pe podpLlopo atoy avtioTolyo xOXAO.

e Kabe owot) amdvtnon Pabpoioyeitor pe 4 povadeg. o xdbe Aavboouévn amdvtnon

oportpeitot 1 povédo.

* Amévtnoy oe doxnoyn pe LOVPLOUO OE TEPLOCOTEPOLS OO €vay xUxAovg Bewpeiton
AovOoopévn. Emeldy) n dtépbwon Oa yiver nhextpovixd, omolodmote emmAEoY anuadL

7 OPNOLLO LTTOPEL VO XOTOGTNOEL TNV ATTAVTINGY AovOoauévn,.

e Mmopeite Vo YPNOLLOTIOLNOETE TOV XWPEO BLTTAX OTLG OLOXNOELS YLOL VO XAveTE BoninTixég

TPAEELG.

* YUOTNVETOL OTIWE ONUELWVETE TLG OTIAVTNOELS GOG OTO ELOLXO EVTUTIO OTTOYTYOEWY 0T
teAevtalo TEVTE AeTtTA TG eEgTaomg, ool Befoatwbeite dTL oL amavtioelg oag slval

TEALXEG.

4 . , ,
Mopadeiypoto GLPTANPWONG ATAVTNOEWY

1. No vtoroyioete To dbpolopoa 2 + 3.
A. 6 B. 5 I'. 4 A. 3 E. 2

X WOoTY CUUTTANPWOT AovOaopévn couTApwon

Lt OOOOE LOROOO
Lt OOOOO Lt OOOO0
OO0 Lt OWOOOG
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5. To mo ®x&tw oMo TaEOLOLALEL Evar TETPAYWYO, TOTTOOETNEVD LEoa o Evar aAho. H
TEPLUETPOG TNG OXLUOUEVNS TtEPLOYNG Elval Lo pe 24 cm. [ldoo eivar to eufoaddv Tov

UEYBEAOL TETPOYWVOU;

A. 9 cm? B. 16 cm? I'. 24 cm? A. 25 cm? E. 36 cm?

6. O YPNOLLOTTOLNOOLE TLG TTLO XATL XAPTEGS, YLO Vo oyuortioovpe 300 dupripLoug opLh-
pwovc. Ilota eivar M peyaAdtepn Suvaty] dLaoEd Twy dV0 SLPNELLWY oELBUWY;

A. 66 B. 62 I'. 58 A 44 E. 36

7. Tlotog eivar 0 puixpdtepog optbudg amd BeAdxta Tov TEETEL vo plEeL xAmToLog, yLa vou

TeTOYEL axpLPBwg 21 mdvToug;

A. 4 B. 5 I'. 6 AT E. 8

8. IIo xétw mopovataletol éva poytxd teTpdywvo. To abpotoua Twv aplbudy oc omolo-
onmote ypoauwy, otAn 1 Staywwvro etvot to tdto. Ilotog aptbudg mpénet va Tomobetndel

0TO XOLTAXL UE TO EQWTNUOTLXO;

A. 3 B. 6 r. 7 A, 10 E. 11

Kumproxn Mabnuotixn Etowpeio XeAida 2
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9. Tloto eivar to abpotopa twv dbo Pneiny Tov AsiTovY GTNY Lo %ATwW TEOcbheoy;

(+)

8
g
7
1

N|[CO — W

6
9
U
8
A. 3 B. 7 .9 A 11 E. 13

10. Iloto amtd Tor WO KATW OYNLOTO EXEL TN UEYAADTEQY] TTEPLUETPO;

A1 B BN

A. To A B. ToB ' ToT" A. To A E. To E

B

11. TIo xbtw TopovoldleTal 1 *ATOOXELY] TG Mapiog, XENOLULOTOLHOVTOS OTLETOELAA.
[Téoa omptéELAa b ypetaotel N Mapiar CUVOALXA, YLOoL VO OYNULOTIOEL ULoL OELPG Ot
11 Tpiywva

A. 21 B. 22 I'. 23 A. 25 E. 33

12. ITto xatw mopovatdletal pio optbunmixn yooppy. To onueio I' Bploxetor oto % ™G5

ondotoong AB amd to A. Tlotog aptbudg avtiotoryel oto onueio T

A r B
18 93
A. 50 B. 56 I'. 62 A. 68 E. 80

13. H Iwdvvo x€pdioe oe €vay SLorywvLlopd xopol Evor YONUoTixd Toad. E6dede tor ULod
Ae@Té TOL %EPDLOE, YLow Vo oryopaoel évar BLBAlo. XTn oLVEYELR, EGWOE GTOY adEAPO
g To % TWY YENLATWY TOL TG Euevay. To vTéAoLTTO. €12 Tal ATOTOUIELOE GTOY

xovu oA TNg. Ildoo Aepté elye xepdioel oTOY dLaywVLopd X0p0V;

A. 72 B. 60 I'. 48 A. 36 E. 24

Kumproxn Mabnuotixn Etowpeio XeAido 3
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14

15.

16.

17.

18.

. [Iévte moudLéd ovppeteiyov oe évay aywva Spdpov. O A Moy YONYOPOTEPOG OTtd TOV
B xow tov I'. O B 7ty meo apydg amd tov I'. O A ftay yonyopdtepog amd tov A, aAAé

Lo 0pYOg amd tov E. Tlowo moudi teppdtioe otny téTopTy O€om;

A. A B. B . r A A E. E

Xe éva oyoAelo, yLa xabe 8 orydpLa LTTAPYOLY b xopiTola. Av 0TO OYOAElD LTTEEYOLY

128 aydpLa, ToLog eivor 0 GLYOALXOG aPLOWY TwWY TOLdLWY GTO OYOAELD;

A. 253 B. 218 I'. 208 A. 198 E. 133

H Mopio tomobetel 35,75 kg aAedpl oc coxodAa. e xébe coxoOAL umopodue vo

Bérovpue 500 g aredpt. [Tdoo caxovAla Ho ypetooToVuE;

A. 36 B. 53 I 70 A T1 E. 72

H Zwmpio éxer 24 xoppdatio omdyxo, 80 xOxxLveg YAvTPeS xol 96 AOTPES YAVTOEC.
Xonotpomolel éva xop Tt omtay®o, 20 XOAKLVES XAVTPES Xol 16 AOTTPES YAVTPES, YLO
voo @TLAEEL Evar TtepLd€porno. Ay 1 Zwtnpla @TLdEel dAa Tor TTEPLOEpona Tor LdLa, TTOTO

TePLIEPaLOL ULTTOPEL YO PTLAEEL;

A. 4 B. 5 I'. 6 A 8 E. 24

"Evo tetpdiywvo pe pnpog mAsvpdc 4 cm ywpiletor 6mwe Qaivetor oto oxniuoa. Tt uépog

OAOXANPOL TOL TETPOYWVOL ELVOL TO OXLATUEVO LEPOG;

4 cm

2 cm
4 cm
2 cm
2 cm 2 cm
A S B. > r. 2 A 2 E 2
32 16 16 16 16

Kumproxn Mabnuotixn Etowpeio XeAido 4
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19. IIo »xdtw mopovatalovtor dVo opLbpopnyovés. 'Evog aptbpdg praiver oty apltbuoun-
YoV A oL 0T CLVEYELX TO ATOTEASCUO TNG UNYOVNG OLTNG UTtaivel otny aptbuoun-
o B.

O mivaxog delyvel Tig TLpég eLoddov oty opLthuounyovy A ot TLG aYTIOTOLYEG TLUES
eEbdov oty aptbuounyovn B.

Eioodog aptbpopnyavig A "EEodoc aptbpopnyovig B
4 1
6 2
7 2,5
9 3,5
5 10,5

[Totog aptbudg mpemet va umel oty apLtbuounyovn A, wote oty €€odo g apLbuoun-
yovig B va mapovotaotel o aptbudg 10,5;

A. 225 B. 23 r. 235 A. 24 E. 245

20. X7o mLo xaTw oxnua, To opboywvia 1,2, 3,4 xow 5 eivon toa. To dbpotop.o twv epPodwdy
Twy Tévte opboywviwy eivar 135 cm?. H mepipetpog evég améd awtd eivor 24 cm. To

TAGTog Tov opboywviov 6 elvor 4 cm. Tloto eivor to epPaddv Tov opboywviov 6;

6
2
1 3 5
4
A. 64 cm? B. 60 cm?2 . 50 cm? A. 48 cm? E. 45 cm?

Kumproxn Mabnuotixn Etowpeio XeAida 5
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21. O Kvuptaxog 0€Aer vor TOXTOTTOOEL TG PWTOYPAPLES TOL O €var aAuToLU. ['éutoe
TTANPWS 3 QUAAO TOL GAUTIOLW PE TOV (OL0 aELOUG PWTOYPOPLLY XL GTO TEAELTOLO
EVUANO Tepiooedoay 4 pwToypapies. [lotog amd Toug o xdTw apLbuods AEN pmopet
vo glval 0 opltipog Twv QToypaLey Tov Kuptdxov;

A. 13 B. 19 . 25 A. 28 E. 34
22. H Aptédvn éxave Stépopeg mPBEELS LE TNV LTOAOYLOTLXN TNG UNyovn. Me Bdon ta
OTOTEAEGULATO. EYPOUDE TIEVTE TTPOTACELG:
e To &bpotopo dvo dptiwy optbuwy eivor dptiog opLbude.
e To ywépevo 3o TepLTTOY 0PLiuwy elvor TepLttdg orptOpdc.
* ‘O\o T TOAAaTTAGoLo ToL 4 elval gpTtiot opLuol.
* To ywépevo dVo StPNELwY apLtbuwy eivor Ttéyvtote ToLpNELog opLtbudc.

* 'Oty TOAMATACGLAOELS EVOY OXEPOLO 0PLOUO ETTL TOV E0VTH TOV, TO YLVOUEVO ELvoL

évog apLiudc ToAamTAdato Tov 8 awEnuévog xoata 1.
[T6oec amd Tic Lo AV TEOTACELS elvort 0pbEG;
A1 B. 2 Ir. 3 A 4 E. 5

23. O IobAtog touv 2021 eiye mévte [leumnteg, mévte [Mapaoxevég xal mévte LaBPata. [Nota

omd TG oaxdAovbeg nEpeg TapovaLAoTNKE 5 QPOPES Tov AvyovaTto Tou 2021;
A. Toitm B. Tetgpt I'. IIéumty A. Topaoxevny E. ZapBato

24. H Avtpea €xeL 92 pxpolg xOfoug pe unog TAevpds 1 cm, 6mtweg avtdy Tov PaiveTol

TLO XETW.

Toug ®BBovg W TOVG UTTOPEL VoL TOLG GLYOPLOAOYTOEL, YLOL VOL XL TOOXEVAOEL LEYOADTE-
povg xVPovug. ITéoovg ®VPovg pe dropopetind péyehog UTOPEL VOU XOTOOKEVLATEL, HLEYOL

vo. eEovtAnbody ot xOPot mov €xel otn didbeon g
A. 100 B. 10 r. 5 A 4 E. 3

25. O Idoovag Ha ayopdoel dwpdxior YLow ToUG 28 XOAAECGUEVOVS GTO TIAPTL TV YEVEOALwY
Tov. Av ayopdaoel 10 onpetwpotdpio xor 18 poivPobixeg o TAnpwoer €36, eved N
oyopd 15 onuetwpoatdpiwy xor 13 poAvBobnxoy otoyilet €40. Ioto eivor to xdotog
uLog LoAvPBobnung;

A. €1 B. €1,50 I'. €2 A. €250 E. €3

Kumproxn Mabnuotixn Etowpeio XeAido 6
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e Fill in carefully the answer sheet, by choosing only one answer to each question. The
selection must be made by shading the right answer.

e Every correct answer is graded with 4 points. For each wrong answer, 1 point will be
deducted.

e If a question is answered by shading more than one answer, the answer will be
considered wrong. The correction will be made electronically, so any additional mark
might be taken as wrong.

* You can use the space next to the questions to take extra notes.

¢ It is recommended that you complete the answer sheet in the last five minutes of the
exam, making sure that your answers are final.

( Examples of filling the answer sheet
1. Find the result 2 + 3.
A. 6 B. 5 I'. 4 A 3 E. 2

Correct filling Incorrect filling

tO®OOE tOROO®
tOOOO® Lt OEOOE
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23™ Cyprus Mathematical Olympiad

3rd & 4t Grade

(C" & D’ Dimotikou)

1. What number should be written in the box?

362 + 185 = 360 + 180 + [

185

I

545

B.

047

A.

2. What is the value of the expression?

(214+204+194+11+10+9) + 30

30

10

3. The diagram below shows the money that five children have in their piggy bank. Maria

has the most and Georgia the least. What amount of money does Maria have to give to

Georgia so that they have the same amount of money?

42

36

30

24

Money

in euros

18

12

Children

9 euros I'. 12 euros A. 15 euros E. 18 euros

B.

A. 6 euros

4. The temperature on Tuesday was 4 degrees higher than on Monday. The temperature

on Wednesday was 6 degrees lower than on Monday. If the temperature on Wednesday

was 22 °C, what was the temperature on Tuesday?

16 °C

E.

20 °C

A.

22 °C

I

24 °C

B.

32 °C

A.

Page 1

Cyprus Mathematical Society
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(C’" & D’ Dimotikou)

5. The figure below shows a square that is placed inside another. The perimeter of the

shaded area is equal to 24 cm. What is the area of the large square?

V7777777777777 77777777

A. 9 cm? B. 16 cm? I'. 24 cm? A. 25 cm? E. 36 cm?

6. The following cards will be used to form two two-digit numbers. What is the largest

possible difference between the two two-digit numbers?

A. 66 B. 62 I'. 58 A 44 E. 36

7. What is the smallest number of darts one must throw, in order to get exactly 21 points?

A. 4 B. 5 I'. 6 A7 E. 8

8. A magic square is shown below. The sum of the numbers in any row, column or

diagonal is the same. What number should be placed in the question mark box?

A. 3 B. 6 r. 7 A, 10 E. 11

Cyprus Mathematical Society Page 2
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9. What is the sum of the two missing digits in the addition below?

8
g
7
1

N0 —~ W
—
+
~—

6
9
g
8
A 3 B. 7 Ir. 9 A 11 E. 13

10. Which of the following shapes has the largest perimeter?

1 R Y

A A B. B . T A A E. E

B

11. Maria used matchsticks to make the construction shown below. How many matchsticks

will Maria need in total to form a series of 11 triangles?

A. 21 B. 22 I'. 23 A 25 E. 33

12. A numerical line is shown below. The point I is located at 2 of the distance AB from

point A. What number corresponds to the point I’;

A r B
18 93
A. 50 B. 56 I'. 62 A. 68 E. 80

13. Ioanna won an amount of money in a dance competition. She spent half the money she
earned to buy a book. Later on, she gave her brother % of the money left. She saved the

rest €12 in her piggy bank. How much money did she win in the dance competition?

A. 72 B. 60 I'. 48 A. 36 E. 24

Cyprus Mathematical Society Page 3
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14.

15.

16.

17.

18.

Five children took part in a road race. Runner A was faster than B and I'. Runner
B was slower than I'. Runner A was faster than A, but slower than E. Which child

finished in fourth place?

A. A B. B . r A A E. E

In a school, for every 8 boys there are 5 girls. If there are 128 boys in the school, what
is the total number of children in the school?

A. 253 B. 218 I'. 208 A. 198 E. 133

Maria puts 35,75 kg of flour in bags. We can put 500 g of flour in each bag. How many

bags will we need?

A. 36 B. 53 . 70 A 71 E. 72

Sotiria has 24 pieces of string, 80 red beads and 96 white beads. She uses a piece of
string, 20 red beads and 16 white beads to make a necklace. If Sotiria makes all the

necklaces the same, how many necklaces can she make?

A 4 B. 5 I'. 6 A 8 E. 24

A square with side length 4 cm is divided as shown in the figure. What part of the
whole square is the shaded part?

4 cm

2 cm
4 cm
2 cm
2 cm 2 cm
A S B 2 r. 2 A X B 2
32 16 16 16 16

Cyprus Mathematical Society Page 4
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19. Two calculator machines are shown below. A number is entered into the calculator A
and then the result of this machine is entered into the calculator B.

The table shows the input values on the calculator machine A and the corresponding
output values on the calculator machine B.

Input calculator machine A Output calculator machine B
4 1
6 2
7 2,5
9 3,5
? 10,5

What number must be entered in the calculator machine A, so that the number 10,5

will be displayed at the output of the calculator machine B?
A. 225 B. 23 T. 235 A. 24 E. 24,5
20. In the figure below, the rectangles 1,2,3,4 and 5 are equal. The sum of the areas of

the five rectangles is 135 cm?. The perimeter of one of them is 24 cm. The width of the
rectangle 6 is 4 cm. What is the area of the rectangle 6?

6
2
1 3 5
4
A. 64 cm? B. 60 cm?2 . 50 cm? A. 48 cm? E. 45 cm?

Cyprus Mathematical Society Page 5
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21. Kyriakos wants to arrange his photos in an album. He filled fully 3 sheets of the album
with the same number of photos and 4 photos left on the last sheet. Which of the
following numbers CANNOT be the number of Kyriakos’ photos?

A. 13 B. 19 I'. 25 A. 28 E. 34

22. Ariadne did various operations with her calculator. Based on the results, she wrote five

sentences:

e The sum of two even numbers is an even number.

The product of two odd numbers is an odd number.

All multiples of 4 are even numbers.

The product of two two-digit numbers is always a three-digit number.

¢ When you multiply an integer by itself, the product is a multiple of 8 increased
by 1.

How many of the above sentences are correct?

A1 B. 2 I'. 3 A 4 E. 5

23. July of 2021 had five Thursdays, five Fridays and five Saturdays. Which of the following
days appeared 5 times in August of 20217

A. Tuesday B. Wednesday I Thursday
A. Friday E. Saturday

24. Andrea has 92 small cubes with side length 1 cm, like the one shown below.

She can assemble these cubes to make larger cubes. How many cubes of different sizes
can she make, until the cubes she has at her disposal are exhausted?

A. 100 B. 10 I'. 5 A 4 E. 3

25. Jason will buy presents for 28 guests at his birthday party. If he buys 10 notebooks and
18 pencil cases he will pay €36, while buying 15 notebooks and 13 pencil cases costs
€40. What is the cost of a pencil case?

A. €1 B. €1,50 I'. €2 A. €250 E. €3

Cyprus Mathematical Society Page 6



